KEE SEMICONDUCTOR KCR405T
TECHNICAL DATA Constant-Current LED Driver Transistor

LED Drive Application.
FEATURES
E
- Supplies stable bias current even at low battery voltage. « 5 N
- ldeal for stabilizing bias current of LEDs. ‘ ‘ DIM | MILLIMETERS
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MAXIMUM RATING (Ta=25T)
CHARACTERISTIC SYMBOL RATING UNIT
Source Voltage Vs 40 \Y
Output Current lo 65 mA
Output Voltage Vo 38 \%
Reverse Voltage Between All Terminals VR 0.5 \Y
Power Dissipation Pp* 900 mwW
Junction Temperature T; 150 T
Storage Temperature Range Tsyg -55~150 C

*Package mounted on a ceramic board (600 x 0.8 )
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KCR405T

ELECTRICAL CHARACTERISTICS (Ta=25%)

CHARACTERISTIC SYMBOL TEST CONDITION MIN. TYP. MAX. UNIT
Collector-Emitter Breakdown Voltage BVceo Ic=1mA, 15=0 40 - - \V/
Supply Current Is V=10V 340 420 500
DC Current Gain hee 1c=50mA, V=1V 100 220 470 -
Internal Resistor Rint IRin=50MA 13 17 22 Q
Output Current lo V=10V 45 50 55 mA
Voltage Drop (Vs-VE) Vbrop 10=50mA 0.75 0.8 0.85 \Y
Lowest Sufficient Battery VVoltage Overhead Vsmin 10>18mA - 14 - \Y
Output Current Change Versus Ta A lollg V=10V - -0.15 - %/K
Output Current Change Versus Vg A lpllg V=10V - 1 - %IV

APPLICATION CIRCUIT

Rext
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KCR405T
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